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Simplification

SIMPLIFICATION/ljyhdj.k
(Practice Sheet With Solution)

1. What value should come in the place of
question mark in the following equation?

fuEufyf[kr lehdj.k ds iz'uokpd fpÉ ds LFkku ij
dkSu&lk eku vkuk pkfg,\
(0.006 ÷ 0.01 ) + (0.008 ÷ ?)–(0.003 ÷ 0.03)
= 0.6

UPSI 1/12/2021 (Shift-01)

(a) 0.08 (b) 0.001

(c) 0.8 (d) 0.008

2. Find the value approximate to two decimals.

nks n'keyo rd vuqekfur eku Kkr dhft,A
(44.6+346.33+3346.333+ 33346.3333) ÷ 50 = ?

UPSI 13/11/2021 (Shift-02)

(a) 742.67 (b) 740.67

(c) 743.67 (d) 741.67

3. What is the value of

7 5

7 – 5


×

14 10

14 – 10


 +

10

5
?

7 5

7 – 5


×

14 10

14 – 10


+

10

5
dk eku D;k gS\

SSC CGL MAINS (08/08/2022)

(a) 2 +1 (b) 2 2 +2

(c) 2 + 2 (d) 2 2 +1

4. What value should come in the place of

question mark (?) in the following equation?

fuEufyf•r lehdj.k esa ç'u fpÉ (\) ds LFkku ij D;k
eku vkuk pkfg,\
(0.006 ÷ ?) + (0.004 ÷ 0.04) + (0.03 ÷ 0.3)

= 0.3

UPSI 14/11/2021 (Shift-03)

(a) 0.006 (b) 0.6

(c) 0.001 (d) 0.06

5. If (48 ÷ 72 × 3) – [15 ÷ 8 × (40 – 32) – 10] + 2P

= 6 ÷ 2, then find the value of P

;fn (48 ÷ 72 × 3) – [15 ÷ 8 × (40 – 32) – 10] +

2P = 6 ÷ 2, rks P dk eku Kkr dhft,
SSC CPO 03/10/2023 (Shift-3)

(a) 2 (b) 4

(c) 1 (d) 3

6. Simplify the following

fuEufyf[kr dks gy dhft,A
3

481  + [(20 ÷ 5 of 3 × 6)+{(8 ÷ 24 of 3)× 4} – 10

÷ 5] – 

–2

51

32

 
  

SSC CPO 09/11/2022 (Shift-01)

(a)
1

24
4

(b)
1

21
9

(c)
4

27
5

(d)
4

29
9

7. Solve the following equation.

fuEufyf[kr lehdj.k dks gy dht,A

123 × (162 – 142 – 40) ÷ 2 – 94 = ?

SSC CPO 09/11/2022 (Shift-03)

(a) 17280 (b) 6561

(c) 10719 (d) 986

8. If 65% of 350 – ?% of 250 + 40% of 120 = 158,
then find the value of ?

;fn  350 dk 65% – 250 dk ?% + 120 dk 40%

= 158 gks] rks ? dk eku Kkr djsaA
SSC CGL 19/07/2023 (Shift-03)

(a) 57 (b) 63

(c) 47 (d) 54

9. Simplify: [0.08 – {3.5 – 4.9 – (12.5 – 7.8 – 4.6)})

[0.08 – {3.5 – 4.9 – (12.5 – 7.8 – 4.6)}) dk eku
Kkr dhft,A

SSC CGL 20/07/2023 (Shift-04)

(a) 1.58

(b) 0.08

(c) 2.58

(d) 12.58

10 Find the value of 
0.04

0.05
 of

1 1 1 1
3 – 2 of 1

3 2 2 4

1 1 1
of

3 5 9

 
  


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Simplification

0.04

0.05
 of 

1 1 1 1
3 – 2 of 1

3 2 2 4

1 1 1
of

3 5 9

 
  


dk eku Kkr dhft,A

SSC CPO 03/10/2023 (Shift-01)

(a) 5 (b) 0.4
(c) 3 (d) 0.03

11. The square root of  is:/dk oxZewy gS%

1 1 1 1 36

4 9 25 49 121

         
                     

SSC CPO 04/10/2023 (Shift-01)

(a)
11

12.60
(b)

1

1260

(c)
11

1260
(d)

1260

11

12. The value of

2 3 1 1 1 1
1 3 1 1 3 1

5 4 4 2 2 3 3

    
          

2 3 1 1 1 1
1 3 1 1 3 1

5 4 4 2 2 3 3

    
          

 dk eku

fdruk gksxkA
SSC CPO 04/10/2023 (Shift-01)

(a) 1 (b) 3
(c) 2 (d) 0

13. Simplify/ljy dhft,A

1 7 3 2 1
2 ÷1 ÷ 9 ÷11 of

2 8 8 3 8

   
      

SSC CHSL 09/08/2023 Shift-04

(a)
33

135
(b)

11

135

(c)
28

135
(d)

57

135

14. Simplify/ljy dhft,A

1 1 4 3 1 1
4 3 1 3 1 1

3 3 5 4 2 3

2 5 2

3 6 3

  
        

 
   

SSC CHSL, 10/08/2023 (Shift-2)

(a)
3

11
8

(b)
3

10
8

(c)
3

14
8

(d)
5

16
8

15. Simplify/ljy dhft,A
3 3

3

–2744× –216

64

729

SSC CPO 09/11/2022 (Shift-01)

(a) 164 (b) 512

(c) 189 (d) 156

16. Simplify/ljy dhft,A

 2 3 76 19
456 – 76 +15 + of ÷

4 18 72 × 24

 
  

SSC CPO 10/11/2022 (Shift-02)

(a) 443 (b) 256

(c) 356 (d) 401

17. Simplify/ljy dhft,A

 2 3 76 19
456 – 76 +15 + of ÷

4 18 72 × 24

 
  

SSC CPO 10/11/2022 (Shift-03)

(a) 17 (b) 21

(c) 19 (d) 12

18. Simplify/ljy dhft,A

5 3 5 3
– – – of 8.8 –1.2

8 8 8 8

1 1 3 3
4 ÷2.5 × 2 ÷ of 60 + –

6 6 4 8

   
      

 
  

SSC CPO 11/11/2022 (Shift-01)

(a)
22

5
43

(b)
23

3
67

(c)
44

4
85

(d)
4

4
5

19. Find the value of/dk eku Kkr djsaA

8 7 1 1 2 1
6 ÷ of 1 +5 + ÷7

15 9 10 5 5 5

 
  

SSC CPO 11/11/2022 (Shift-02)

(a)
25

16
(b)

5

14

(c)
25

18
(d)

5

18

20. What is the positive value of the following
expression?

fuEufyf[kr O;atd dk /ukRed eku D;k gksxk\

  
 

25× 4 ÷ 4 of

36 ÷15 of 2 of 29 – 8 – 11 ÷

9× 5 ÷ 5 of 3

 
 
 
 
 

SSC CPO 11/11/2022 (Shift-02)
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Simplification

(a)
5

1
6

(b)
1

1
5

(c)
4

2
5

(d)
3

2
5

21. Simplify/ljy dhft,A

 2

2 3

2 2

16+ 28 of 7÷2

25 +8÷2 – 1
– 18 ÷12 of

8

  
  

   
      

SSC CPO 11/11/2022 (Shift-03)

(a) 626 (b) 529

(c) 721 (d) 579

22. Find the value of/dk eku Kkr djsaA

3
40 – of 32

4
3

37 – of (34 – 6)
4

SSC CPO 23/11/2020 (Shift-1)

(a) 1 (b) 0

(c)
1

–
2

(d)
1

2

23. Find the value of/dk eku Kkr djsaA

1 3 1
5 ÷ of ÷

4 7 2

 
  

1 7 9
5 – 7 ÷ 9

9 8 20

 
  

11
×

21
– 

1
5 ÷ 2of

2

 
  

SSC CPO 23/11/2020 (Shift-2)

(a) 0 (b)
35

24

(c) –2 (d)
15

28

24. Find the value of/dk eku Kkr djsaA

1 1 3 1
5 ÷ 2of + 5 ÷ of

2 4 7 2

   
      

÷ 
1 7 9 11

5 – 7 ÷ 9 ×
9 8 20 21

 
  

SSC CPO 24/11/2020 (Shift-1)

(a)
35

24
(b)

15

28

(c) –2 (d) 8

25. Simplify the following expression.

fuEu O;atd dk eku Kkr dhft,A
72

6 7
48 3612 5 71 [(51 4 13) (13 12 7)]
16 11

232

 
 

  
             

  

SSC CGL 19/07/2023 (Shift-02)

(a) 
–31

233
(b) 

31

233

(c) 
41

232
(d) 

31

232



26. If 
24

1+ =
529 23

x
, then the value of x is:

;fn 
24

1+ =
529 23

x
gS] rks x dk eku Kkr dhft,A

SSC CPO 11/11/2022 (Shift-02)

(a) 15 (b) 27

(c) 47 (d) 30

27. Simplify the given expression.

y + 2x – [(y – (y – x + y) – (x + y) + y] – 2y.

fn, x, O;atd dk eku Kkr dhft,A
y + 2x – [(y – (y – x + y) – (x + y) + y] – 2y.

SSC CGL TIER I 17/07/2023 (Shift-01)

(a) – y (b) – 2x

(c) Y (d) 2x

28. What is the value of the given expression ?

a 4 a 2

a 2 a

4 –5 × 4

15 × 4 –2  × 4

 

fn, x, O;atd dk eku D;k gS\

a 4 a 2

a 2 a

4 –5 × 4

15 × 4 –2  × 4

 

 SSC CGL (PRE) 24/07/2023 (Shift-1)

(a) 16 (b) 64

(c) 20 (d) 24

29. Arrangement of the fractions
4 –2 –7 5

, , ,
3 9 8 12

in

ascending order is

fHkUuksa 
4 –2 –7 5

, , ,
3 9 8 12

dks vkjksgh Øe esa O;ofLFkr djuk gS

(a)
7 2 5 4

– , – , ,
8 9 12 3

(b)
7 2 4 5

– , – , ,
8 9 3 12

(c)
2 7 5 4

– , – , ,
9 8 12 3

(d)
2 7 4 5

– , – , ,
9 8 3 12
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30. Sum of thre fractions is 
11

2
24

. On dividing the

largest fraction by the smallest fraction 
7

6
 is

obtained which is 
1

3
 greater than the middle

fraction. The smallest fraction is

rhu fHkUuksa dk ;ksx 
11

2
24

 gSA lcls cM+h fHkUu dks lcls

NksVh fHkUu ls foHkkftr djus ij 
7

6
 çkIr gksrk gS tks fd

eè; fHkUu ls 
1

3
vf/d gSA lcls NksVh fHkUu gSA

(a)
5

8
(b)

3

4

(c)
5

6
(d)

3

7

31. Which of the largest of the following fraction?

fuEufyf•r esa ls dkSu lk fHkUu lcls cM+k gS\

(a)
8

11
(b)

3

5

(c)
11

17
(d)

2

3

32. Which of the following fractions does not lie

between 
5

6
and 

8

15
?

fuEufyf•r esa ls dkSu lk fHkUu 
5

6
vkSj 

8

15
 ds chp ugha

gS\

(a)
2

3
(b)

3

4

(c)
4

5
(d)

6

7

33. A fraction becomes 
9

11
, if 2 is added to both

the numerator and the denominator. If 3 is
added to both the numerator and the

denominator it becomes 
5

6
. What is the

fraction?

,d fHkUu 
9

11
 gks tkrh gS] ;fn mlds va'k vkSj gj nksuksa

esa 2 tksM+ fn;k tk,A ;fn va'k vkSj gj nksuksa esa 3 tksM+

fn;k tk, rks ;g 
5

6
gks tkrk gS fHkUu D;k gS\

(a)
7

9
(b)

3

7

(c)
5

9
(d)

7

10

34. A fraction having denominator 30 and lying

between 
5

8
 and 

7

11
is

,d fHkUu ftldk gj 30 gS vkSj tks 
5

8
vkSj 

7

11
ds chp gS

(a)
18

30
(b)

19

30

(c)
20

30
(d)

21

30

35. The greatest number among 0.7 0.16 ,

0.6
1.02 –

24
, 1.2 × 0.83 and 1.44

0.7 0.16 , 
0.6

1.02 –
24

, 1.2 × 0.83 vk S j

1.44 esa ls lcls cM+h la[;k

(a) 0.7 0.16 (b) 1.44

(c) 1.2 × 83 (d)
0.6

1.02
24



36. The least number among 
4

9
,

9

49
, 0.45 and (0.8)2 is

4

9
,

9

49
, 0.45  vkSj (0.8)2 esa lcls NksVh la[;k gS

(a)
4

9
(b)

9

49

(c) 0.45 (d) (0.8)2s

37. Find the value of/dk eku Kkr dhft,A
1 × 2 + 2 × 3 + 3 × 4 + 4 × 5 + ..... ..... ... + 10 × 11

(a) 4329 (b) 5826

(c) 4290 (d) 3815

38. If 5 3 + 75 = 17.32 then the value of

14 3 + 108 is:

;fn 5 3 + 75 = 17.32  gS] rks 14 3 + 108  dk

eku Kkr djsaA
SSC CGL 20/04/2022 (Shift-03)

(a) 32.46 (b) 35.64

(c) 34.64 (d) 33.86
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39. Find the value of/dk eku Kkr dhft,A

1 1 1 1 1 1 1 1

2 6 12 20 30 42 56 72
      

(a)
7

9
(b)

3

4

(c)
6

5
(d)

8

9

40. Find the value of/dk eku Kkr dhft,A

1 1 1 1 1

20 30 42 72 90
   

(a)
1

10
(b)

3

5

(c)
3

20
(d)

7

20

41. Find the value of/dk eku Kkr dhft,A

1 1 1 1 1 1 1 1

20 30 42 56 72 90 110 132
      

(a)
1

8
(b)

1

7

(c)
1

6
(d)

1

10

42. Find the value of/dk eku Kkr dhft,A

1 1 1 1 1

15 35 63 99 143
   

(a)
5

39
(b)

4

39

(c)
2

39
(d)

7

39

43. The simplified value of/dk ljyhÑr eku gSA

1 1 1 1 1
1 – 1 – 1 – ....... 1 – 1 –

3 4 5 99 100

         
                  

(a)
2

99
(b)

1

25

(c)
1

50
(d)

1

100

44. The value of/dk eku gS

1 1 1 1
1 1 1 ....... 1

2 3 4 120

       
                 

(a) 30 (b) 40.5

(c) 60.5 (d) 121

45. Simplify/ljy dhft,A

999
1

7
+ 999 

2

7
+ 999

3

7
 + 999 

4

7
 + 999

5

7
+ 999

6

7

(a) 5997 (b) 5979

(c) 5994 (d) 2997

46.
999

999 7
1000

 
   is equal to/fdlds cjkcj gS%

(a)
7

6993
1000

(b)
7

7000
1000

(c)
7

6633
1000

(d)
993

6999
1000

47. Find the value of/dk eku Kkr dhft,A

999
995

999
× 999

(a) 990809 (b) 998996

(c) 999824 (d) 998999

48. 999
998

999
× 999 is equal to/fdlds cjkcj gSA

(a) 998999 (b) 999899

(c) 989999 (d) 999989

49. Simplify/ljy dhft,A

1
2

1
2

1
2

1
2

5









(a)
137

85
(b)

157

65

(c)
138

72
(d)

183

95

50. Simplify/ljy dhft,A

1
2

1
1

1
3

1
2

5









(a)
136

49
(b)

127

36

(c)
153

64
(d)

189

81
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51. Simplify/ljy dhft,A

2
2

3
5

4
1

5







(a)
25

11
(b)

141

69

(c)
138

60
(d)

125

65
52. Simplify/ljy dhft,A

9
3

3
2

7
1

8







(a)
297

54
(b)

531

65

(c)
413

91
(d)

217

98
53. On simplification, the expression

1 1
4 – 2

17 7
1 1 1

3 1 2
12 7

2
1

5 –
5



 

  is equal to

ljyhdj.k djus ij O;atd 

1 1
4 – 2

17 7
1 1 1

3 1 2
12 7

2
1

5 –
5



 

 ds

cjkcj gS

(a)
28

65
(b)

24

53

(c)
56

53
(d)

14

65
54. The value of/dk eku gSA

a
1 –

1
1

a
1

1 – a





(a) a (b) 1 – a

(c) 1 (d) 0

55. The value of/dk eku gSA

1 1
4 – 2

17 4
1 1 1

3 1 2
12 7

2
1

5 –
5



 



(a) 1 (b) 4

(c) 3 (d) 2

56. If 
5

A
3

3
2

1 –
3




aand 

1
B

1
3 –

1
2 –

5

7

 athen the value

of  A + B

;fn 
5

A
3

3
2

1 –
3




 rFkk 

1
B

1
3 –

1
2 –

5

7

 rks A + B  dk

eku D;k gS\

(a)
7

3
(b)

7

6

(c)
13

12
(d)

8

5

57. If A = 
1

1
1

1
1

1
9







 and  
1

B
2

3
1

2
2







, then what

is the value of 19 (A + B)?

;fn 
1

A 1
1

1
1

1
9

 





rFkk 1
B

2
3

1
2

2







 rks 19 (A +

B) dk eku D;k gS\
(a) 34 (b) 200
(c) 30 (d) 25

58. If  
1

A
1

3
1

1
1

2
4









then what will be the value

of  24A?

;fn 
1

A
1

3
1

1
1

2
4









rks  24A dk Ekku D;k gS\

(a)
13

4

(b)
13

40

(c)
13

12

(d)
13

2
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Simplification

59. What is the value of /Ekku D;k gS\

1

1
5 –

1
3 –

1
5 –

4

?

(a)
45

291
(b)

53

246

(c)
48

297
(d)

96

281

60. The value of/dk eku gSA

(157 157) (157 133) (133 133)

(157 157 157) (133 133 133)

    

    

SSC CPO 04/10/2023 (Shift-02)

(a) 24 (b)
1

290

(c) 290 (d)
1

24

61. Simplify the given expression.

fn, x, O;atd dks ljy dhft,A

0.09 0.09 0.04 0.04 0.16 0.16 2 0.09

0.04 2 0.04 0.16 2 0.09 0.16

0.3 0.3 0.2 0.2 0.4 0.4

      

      

    

SSC CHSL 02/08/2023 Shift-04

(a) 0.38 (b) 0.24

(c) 0.32 (d) 0.29

62. Simplify the given expression 
4913 343

289 49 119



 
.

4913 343

289 49 119



 
fn, x, O;atd dks ljy dhft,A

SSC CHSL 03/08/2023 (Shift-02)

(a) 24 (b) 26

(c) 22 (d) 20

63. Simplify/ljy djsa%

     

           

3 3 3

2 2 2

3.321 2.681 1.245 3 3.321 2.681 1.245

3.321 2.681 1.245 3.321 2.681 2.681 1.245 1.245 3.321

     

       

SSC CHSL 04/08/2023 Shift-01

(a) 6.125 (b) 8.645

(c) 7.247 (d) 10.245

64. Simplify the given expression.

fn, x, O;atd dks ljy dhft,A

(80 80 80) (70 70 70) (50 50 50) – 840000

6400 4900 2500 – 5600 – 3500 – 4000

       

 

SSC CHSL 10/08/2023 (Shift-01)

(a) 100 (b) 200

(c) 400 (d) 300

65. Simplify the given expression.

fn, x, O;atd dks ljy dhft,A

3

2

(4.2) – 0.008

(4.2) 0.84 0.04 

SSC CHSL, 14/08/2023 (Shift-2)

(a) 4 (b) –2

(c) 2 (d) –4

66. Simplify the expression:

fuEufyf[kr O;atd dks ljy dhft,A

143 143 143 139 139 139

143 143 143 – 139 139 139

    

   
SSC CHSL 17/08/2023 (Shift-3)

(a)
1

2
(b) 282

(c)
1

4
(d) 4

67. The value of/dk eku Kkr djsaA

6.35× 6.35× 6.35+ 3.65× 3.65× 3.65

6.35× 6.35+ 3.65× 3.65 – 6.35× 3.65

SSC CPO 23/11/2020 (Shift-1)

(a) 0.01 (b) 10

(c) 1 (d) 0.1

68. Simplify the given expression.

2 2 2

2 22

a – b – 2bc – c

a b 2ab – c 

fuEufyf[kr O;atd dk eku D;k gS\
2 2 2

2 22

a – b – 2bc – c

a b 2ab – c 

SSC CPO 03/10/2023 (Shift-02)

(a)
a – b c

a b c



 

(b)
a b c

a – b – c

 

(c)
a b – c

a – b – c



(d)
a – b – c

a b – c

69. Simplify the following expression. (3x + 5)² + (3x
– 5)²

fuEufyf[kr O;atd dk ljyhdj.k djsaA

(3x + 5)² + (3x – 5)²

SSC CGL 17/07/2023 (Shift-01)

(a) 500x (b) 450x

(c) 9x² + 50 (d) 2(9x2 + 25)
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Simplification

70. Simplify    

4 4

2 2 2 2

256 16y

80 20y 16 4y



 

x

x x .

   

4 4

2 2 2 2

256 16y

80 20y 16 4y



 

x

x x dks ljyhÑr dhft,A

 SSC CGL (PRE) 25/07/2023 (Shift-2)

(a) 5 (b)
1

20

(c)
1

5
(d)

2

5

71. Simplify the expression
2 2 2

2 2 2

s + t + 2st - u

s - t - 2tu - u
,

provided (s + t + u) 0.

O;atd 
2 2 2

2 2 2

s + t + 2st - u

s - t - 2tu - u
, dk eku dhft,] ;fn (s + t +

u) 0. fn;k x;k gksA

SSC CGL PRE 25/07/2023 (Shift-4)

(a)
s + t – u

s – t – u
(b)

s + t + u

s – t + u

(c)
s – t – u

s + t – u
(d)

s – t u

s t u



 
72. Simplify

1 1 1
+ +

2 + 2p 2+ 2q 2+ 2r
, when p =

y z

x

y
q =

z + x
 and 

z
r =

 + yx

;fn p =
y z

x
  gS] vkSj 

y
q =

z + x
 vkSj 

z
r =

 + yx
 gS rks

1 1 1
+ +

2 + 2p 2+ 2q 2+ 2r
dks ljyhd̀r dhft,A

(a) 1 (b) x + y + c

(c) 2 (d)
1

2

73. Simplify the expression 
– y

+ y

x

x
, where x = 2

and y = 3.

;fn x = 2 vkSj y = 3 gS] rks 
– y

+ y

x

x
 O;atd dks gy

dhft,A
SSC CGL PRE 25/07/2023 (Shift-4)

(a) 2 6 – 6 (b) 6 – 5

(c) 5 – 2 6 (d) 2 6 – 5

74 The value of 1801 ×1801 is:

1801 × 1801 dk eku --------- gSA
SSC CPO 09/11/2022 (Shift-02)

(a) 3423601 (b) 3243601

(c) 2343601 (d) 3243106

75. Convert 0.18  into vulgar fraction

0.18  dks vf'k"V fHkUu esa ifjofrZr djsa

(a)
17

90
(b)

18

99

(c)
20

99
(d)

16

90

76. Convert 0.43213  into vulgar fraction

0.43213  dks vf'k"V fHkUu esa ifjofrZr djsa

(a)
4316

9999
(b)

4317

9990

(c)
3217

9990
(d)

2553

9999

77. The difference of 5.76  and 2.3  is

5.76  vkSj 2.3  ds chp varj gSA

(a) 2.54 (b) 3.73

(c) 3.46 (d) 3.43

78. 0.142857 ÷ 0.285714  is equal to/ds cjkcj gSA
(a) 10 (b) 2

(c)
1

2
(d)

1

3

79.  0.11 0.22 × 3 is equal to/ds cjkcj gSA

(a) 3 (b) 1.9

(c) 1 (d) 0.3

80. The vulgar fraction of 0.39 is:

0.39dh vf'k"V fHkUu gSA

(a)
15

33
(b)

11

39

(c)
17

39
(d)

13

33

81. The vulgar fraction of 2.349

2.349  dh vf'k"V fHkUu gSA

(a)
2326

999
(b)

2326

990

(c)
2347

999
(d)

2347

990
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Simplification

82. What value should come in the place of ques-

tion mark (?) in the following question?

fuEufyf•r ç'u esa ç'u fpÉ (\) ds LFkku ij dkSu & lk
eku vkuk pkfg,\

0.537 – 0.335 0.234 = ?

UPSI 14/11/2021 (Shift-02)

(a)
422

990
(b)

412

990

(c)
442

990
(d)

432

990
83. Natu and Buchku each have certain number of

orange. Natu says to Buchku. "If you give me
10 of your oranges. I will have twice the
number of oranges left with you" Buchku
replies, "If you give me 10 of your oranges. I
will have the same number of oranges as left
with you". What is the number of oranges with
Natu and Buchku, respectively?

ukVw vkSj cqpdw çR;sd ds ikl fuf'pr la[;k esa larjs gSaA ukVw]
cqpdw ls dgrk gS- ;fn vki eq>s vius 10 larjs ns nsa rks esjs
ikl vkids ikl cps gq, larjksa ls nksxqus larjsa gksaxs cqpdw mÙkj
nsrk gS] ;fn vki eq>s vius 10 larjs ns nsaxs rks esjs ikl
vkids ikl cps gq, larjksa ds leku la[;k gksxhA ukVw vkSj
cqpdw ds ikl Øe'k% larjksa dh la[;k fdruh gS\
(a) 50, 20 (b) 70, 50

(c) 20, 50 (d) 50, 70

84. In an exam the sum of the scores of A and B
is 120, that of B and C is 130 and that of C
and A is 140. Then the score of C is:

,d ijh{kk esa A vkSj B ds vadksa dk ;ksx 120 gS] B vkSj
C ds vadksa dk ;ksx 130 gS vkSj C vkSj A ds vadksa dk
;ksx 140 gSA rks C dk vad gS%
(a) 65 (b) 75

(c) 70 (d) 60

85. A number is doubled and 9 is added. If the
resultant is trebled, it becomes 75. What is
that number?

,d la[;k dks nksxquk fd;k tkrk gS vkSj 9 tksM+k tkrk gSA
;fn ifj.kke dks frxquk dj fn;k tk,] rks ;g 75 gks
tkrk gSA og la[;k D;k gS\
(a) 6 (b) 35

(c) 8 (d) None of these

86. The sum of two number is 8 and their product
is 15. the sum of their reciprocals

nks la[;kvksa dk ;ksx 8 gS vkSj mudk xq.kuiQy 15 gSA
muds O;qRØeksa dk ;ksx

(a)
8

15
(b)

15

8

(c) 23 (d)
15

8

87. A and B have together three times what B and
C have, while A, B, C together have thirty
rupees more than that of A. If B has 5 times
that of C, then A has

A vkSj B ds ikl dqy feykdj B vkSj C ls rhu xquk
vf/d gS] tcfd A] B] C ds ikl dqy feykdj A ls
rhl #i;s vf/d gSaA ;fn B ds ikl C ls 5 xquk vf/d
gS] rks A ds ikl gSaA

(a) Rs 60 (b) Rs 65

(c) Rs 75 (d) Rs 45

88. 252 m of pant cloth and 141 m of shirt cloth
are available in a cloth store. To stitch one

pant and one shirt,
1

2
2

m and 
3

1
4

m of cloth

are needed respectively. Then the approximate
number of pants and shirts that can be made
out of it are

,d diM+s dh nqdku esa 252 ehVj iSaV dk diM+k vkSj 141
ehVj 'kVZ dk diM+k miyC/ gSA ,d iSaV vkSj ,d 'kVZ

flyus ds fy, Øe'k%
1

2
2

ehVj vkSj 
3

1
4
ehVj diM+sa dh

vko';drk gksrh gSA fiQj blls cukbZ tk ldus okyh iSaV
vkSj 'kVZ dh vuqekfur la[;k gS

(a) (80, 100) (b) (100, 80)

(c) (10, 90) (d) (90, 80)

89. There are 50 boxes and 50 persons. Person 1
keeps 1 marble in every box. Person 2 keeps
2 murpbles in every 2nd box person 3 keeps
3 marbles in every third box. This process goes
on till person 50 keeps 50 marbles in the 50th
box. Find the total number of marbles kept in
the 50th box.

ogk¡ 50 cDls vkSj 50 O;fÙkQ gSaA O;fÙkQ 1 çR;sd fMCcs esa
1 ekcZy j•rk gSA O;fÙkQ 2 çR;sd nwljs ckWDl esa 2 ekcZYl
j•rk gS] O;fÙkQ 3 çR;sd rhljs ckWDl esa 3 ekcZYl j•rk
gSA ;g çfØ;k rc rd pyrh jgrh gS tc rd fd 50
O;fÙkQ 50osa fMCcs esa 50 ekcZy u j• ysA 50osa fMCcs esa
j•s x, dapksa dh dqy la[;k Kkr dhft,A

(a) 43 (b) 78

(c) 6 (d) 93

90. The sum of a two digit number and the number
obtained by reversing its digits is a square
number. How many such numbers are there?

nks vadksa dh la[;k vkSj mlds vadksa dks myVus ij çkIr la[;k
dk ;ksx ,d oxZ la[;k gksrh gSA ,slh fdruh la[;k,¡ gSa\

(a) 5 (b) 6

(c) 7 (d) 8
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Simplification

1.(a) 2.(d) 3.(a) 4.(d) 5.(d) 6.(d) 7.(c) 8.(c) 9.(a) 10.(c)

11.(c) 12.(a) 13.(c) 14.(d) 15.(c) 16.(a) 17.(c) 18.(c) 19.(c) 20.(b)

21.(d) 22.(a) 23.(c) 24.(d) 25.(d) 26.(c) 27.(d) 28.(a) 29.(a) 30.(b)

31.(b) 32.(d) 33.(a) 34.(b) 35.(b) 36.(b) 37.(c) 38.(c) 39.(d) 40.(c)

41.(c) 42.(a) 43.(c) 44.(c) 45.(a) 46.(d) 47.(b) 48.(a) 49.(b) 50.(a)

51.(c) 52.(a) 53.(c) 54.(d) 55.(a) 56.(b) 57.(a) 58.(d) 59.(b) 60.(d)

61.(d) 62.(a) 63.(c) 64.(b) 65.(a) 66.(c) 67.(d) 68.(d) 69.(d) 70.(c)

71.(a) 72.(a) 73.(d) 74.(b) 75.(a) 76.(b) 77.(d) 78.(c) 79.(c) 80.(d)

81.(b) 82.(d) 83.(b) 84.(b) 85.(c) 86.(a) 87.(b) 88.(b) 89.(d) 90.(d)

Answer Key
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Simplification

SOLUTIONS
1. (a)

0.006 0.008 0.003

0.01 0.03x
   = 0.6

0.6 + 
0.008

x
 – 0.1 = 0.6

0.008

0.1
 = x

x = 0.08

2. (d)

Given that,

(44.6+346.33+3346.333+ 33346.3333) ÷ 50

37083.55963
741.67

50
 

3. (a)

7 5 14 10 10

14 107 5 5

 
 



= 

7 5 2 35 14 10 2 140

2 4

10

5

   




=  
140

6 35 6 2
2

 
 
 
 

   

=    6 35 6 35 2   

= (36 – 35) + 2 = 2 +1

4. (d)

4 × 8 + 3 = 50 – 30 ÷ 2

32 + 3 = 50 – 15

35 = 35 [satisfied]

(0.03 ÷ 0.3) = 0.3

(0.006 ÷ x) + 0.1 + 0.1 = 0.3

(0.006 ÷ x) = 0.1

x = 0.06

5. (d)

(48 ÷ 72 × 3) – [15 ÷ 8 × (40 – 32) – 10] + 2P = 6 ÷ 2

2 15
3 – 8 –10

3 8
  

      
   + 2P = 3

2 – 5 + 2P = 3

2P = 6

P = 3

6. (d)

Using the simplification rule BODMAS

 

  
–2

3
5

4

20 5 of 3 6
1

81 8 24 of 3 4 –
32

–10 5

 
   
     
  

  

   



 
 

  

–2
53 54

4

20 15 6 1
3 –

28 72 4 –10 5




   
      

  
 

  

 
3 20 8

3 6 4 – 2 – 4
15 72

     
          

    

4
27 8 – 2 – 4

9
 
  

  

= 27 + 8 – 2 – 4 + 
4

9

4
=29

9

7. (c)

Solve using the simplification rule BODMAS

123 × (162 – 142 – 40)  2 – 94

= 1728 × (256 – 196 – 40)  2 – 6561

= 1728 × 20   2 – 6561

= 17280 – 6561

= 10719

8. (c)

65% of 350 – ?% of 250 + 40% of 120 = 158

227.5 + 48 – 158 = ? % of 250

117.5 = ? % of 250

?% = 
117.5

250

? = 
117.5×100

250
= 47

9. (a)

       [(0.08 – {3.5 – 4.9 – (12.5 – 7.8 – 4.6)}]

=   8
– –1.4 – 12.5 –12.4

100
 
 
 

=  
8

– –1.4 – 0.1
100

 
 
 

=  
8

– –1.5
100

 
 
 

= 1.5
8

100
 
 
 

 =  0.08 1.5  = 1.58
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Simplification

10. (c)

0.04

0.05
 of  

1 1 1 1
3 – 2 of1

3 2 2 4
1 1 1

of
3 5 9

 
  
 





4

5
 of 

10 5 1 5
– of

3 2 2 4
1 1

3 45

 
  





4

5
 of 

5 5
6 8
16

45


4

5
 of 

4 45

3 16


4

5
 of 

15

4
= 3

11. (c)

1 1 1 1 36

4 9 25 49 121
   

= 
1 1 1 1 11

2 3 5 7 6
   

= 
11

1260

12. (a)

2 3 1 1 1 1
1 3 1 1 3 1

5 4 4 2 2 3 3

   
      


    

7 15 5 1 3 10 4
–

5 4 4 2 2 3 3

   
      

    

7 15 5 1 3 10 3
–

5 4 4 2 2 3 4

   
      

    

7 15 5 1 15
–

5 4 4 2 4

  
  
  

   

7 15 5 15
–

5 4 2 4

  
  
  

  

7 15 75
–

5 4 8
 
 
 

 

7 2
–

5 5
 = 

5

5
= 1

13. (c) 
1 7 3 2 1

2 1 9 11 of ?
2 8 8 3 8

   
     

   


5 8 75 35 1

× ÷ ÷ of
2 15 8 3 8

   
      


4 75 35

÷ ÷
3 8 24

  
      


4 75 24

÷ ×
3 8 35

 
  


4 45

÷
3 7


4 7

×
3 45

=
28

135

14. (d)

1 1 4 3 1 1
4 +3 ×1 ÷3 × 1 +1

3 3 5 4 2 3
2 5 2

÷ ×
3 6 3

 
  

 
  

 

13 10 9 15 3 4
+ × ÷ × +

3 3 5 4 2 3
2 6 2

× ×
3 5 3

 
  

 
  

 

13 10 9 4 17
+ × × ×

3 3 5 15 6
8

15

 
  

 
  

 

13 68
+

3 15
8

15

= 
133 15

15 8
  = 

133

8
 = 

5
16

8

15. (c)

Given,

3 3–2744 × –216
=

643
729

3

3

3

– 14× –14× –14

× – 6× – 6 × – 6
=

4 × 4 × 4
9 × 9 × 9

–14× – 6
=

4
9

–14× – 6×9
=

4
=189

16. (a)

 2 3 76 19
456– 76+15 + of ÷

4 18 72×24
 
  

=  
19 19

456– 76+225 + ÷
6 72×24

 
  
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=
19 72×24

456 – 301+ ×
6 19

 
  

= 456 – 301 + 288

= 744 – 301 = 443

17. (c)

  1 7 16 8 2      2 2
6×2 +6 ×

36

 
 
 

=    
2

8 1 6 4 6
6

 
 
 

    

= 
2

9+ 30×
6

 
 
 

= 9 + 10  = 19

18. (c)

5 3 5 3
– – – of8.8 –1.2

8 8 8 8

1 1 3 3
4 2.5 2 of60 –

6 6 4 8

   
      

 
  

   

= 

5 3 2
– – of 8.8 –1.2

8 8 8

25 6 – 3
÷2.5×2÷10 +

6 8

  
  
  

 
  

=

5 1
– of 8.8 –1.2

8 8
25 10 1 3

× ×2× +
6 25 10 8

 
 
 

 
  

=

1
of 8.8 –1.2

2
1 3

+
3 8

 
  

=
4.4 –1.2
1 3

+
3 8

 
  

= 4.4 –1.2
8 +9
24

 =
3.2×24

17
=

44
4

85

19. (c)

8 7 1 1 2 1
6 ÷ of 1 +5 + ÷ 7

15 9 10 5 5 5
 
  

= 
8 7 1 1 2 1

6 ÷ of 1 +5 + ÷ 7
15 9 10 5 5 5

 
  

= 
98 7 11+52 2 36

÷ of + ÷
15 9 10 5 5

 
  

= 
98 7 63 2 36

÷ of  + ÷
15 9 10 5 5

= 
98 49 2 36

÷ + ÷
15 10 5 5

= 
98 10 2 5

× + ×
15 49 5 36

=
4 1

+
3 18

=
24+1

18
=

25

18

20. (b)

 

 

25×4 ÷ 4 of

29 – 8 –1136 ÷15 of 2 of

÷ 9×5 ÷5 of 3

 
 
   
  
   

= 
 

25 × 4 ÷ 4 of

29 + 3 ÷36 ÷ 15 of 2 of

45 ÷ 15

 
 
   
     

=  
100 ÷ 4 of

36 ÷15 of 2 of
29+3 ÷ 3

 
 
 

=  36 ÷15 of 2 of 100 ÷ 4 of 30

=  36 ÷15 of 2 of 100 ÷120

= 
5

36 ÷15 of 2 of
6

= 
36

25
=

6

5
=

1
1

5

21. (d)

  

 2

2 3

2 2

16+ 28 of 7÷2

25 +8÷2 – 1
– 18 ÷12 of

8

  
  

   
      

=

 16+ 28 of 7÷4 –

625+8÷8– 1
324÷144 of

8

  
  

   
      

= [625 + 1 – {16 + 49 – (324  18)}]

= [626 – {16 + 49 – 18}]

= 626 – 47 = 579

22. (a)

 

3
40 – of 32

4 = ?
3

37 – of 34 – 6
4

3
40 –  × 32

4
3

37 – ×28
4

⇒

40 – 24

37 – 21


16

16
 =1
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23. (c)

1 3 1 1 7 9
5 ÷ of ÷ 5 – 7 ÷ 9

4 7 2 9 8 20
  

       ×
11

21
– 

1
5 ÷ 2of

2
 
  

= ?

21 3 1
= ÷ of

4 7 2
 
   ÷ 

46 63 189
– ÷

9 8 20
 
    ×

11

21
– (5 ÷ 1)

21 14
×

114 3
× – 5

46 63 20 21
– ×

9 8 189

 
  

 
  



49
112= × – 5

184 – 30 21
36

49×36×11
= – 5

2×154×21

= 3 – 5 = – 2

24. (d)

1
5 2 of

2

 
 

 
 + 

1 3 1
5 of

4 7 2

 
 

 
 ÷

1 7 9
5 – 7 9

9 8 20

 
 

 
 × 

11

21

= ?

21 3 46 63 189 11
5+ ÷ ÷ – ÷ ×

4 14 9 8 20 21
   
      



49 46 63 20 11
5+ ÷ – × ×

2 9 8 189 21
   
      



49 46 5 11
5+ ÷ – ×

2 9 6 21
 
  



49 184 – 30 11
5+ ÷ ×

2 36 21
 
  



49×36 11
5+ ×

2×154 21


5 + 3 = 8

25. (d)

72
6 7

48 3612 5 71 [(51 4 13) (13 12 7)]
16 11

232

 
 

  
             

  


85+4× –29

232


85 – 4 × 29

232

 
85 –116

232


–31

232

26. (c)

24
1

529 23
 

x

Squaring both sides

 
576

1
529 529

 
x

 
529 576

529 529




x

 x = 576 – 529

 x = 47

27. (d)

y + 2x – [(y – (y – x + y) – (x + y) + y]-2y

 y + 2x –(y – y + x –y) – x – y + y] – 2y

 y + 2x – [x – y – x – y + y] – 2y

 y + 2x + y – 2y = 2x

28. (a)

a 4 a 2

a 2 a

4 – 5 4

15 4 – 2 4

 

 

Put, a = 1

=
5 34 – 5 4

15 4 – 4 4



 

=
1024 – 320 704

=
60 –16 44

= 16

29. (a)

Check positive fraction
4 5

3 12
 48 > 15

Check negative fraction 
 2  7

9 8
– –

 –16 > – 63

 Required ascending order 
–7 –2 5 4

8 9 12 3
  

30. (b)

Let the three fraction are p, q and r where p > p > r

Given, 
p 7

r 6
 and 

7 1 7 – 2 5
q –

6 3 6 6
  

 p + q + r = 
11

2
24

7

6
r + r +

5

6
+ r =

59

24

13r 59

6 24
 –

5 39

6 24
  r = 

39 6 3

24 13 4
 
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31. (b)

       Check two fraction by cross multiplication

2 3

3 5

2 8

3 11

8 11

11 17

2 3

3 5
 10 > 9

 22 < 24

136 > 121

 greatest is
8

11

32. (d)

       Check option by option

(a) 
5 2 8 5 2 8

6 3 15 6 3 15
  

(b)
5 4 8 5 4 8

6 5 15 6 5 15
  

(c)
5 3 8 5 3 8

6 4 15 6 4 15
  

(d)
6 8 6

7 15 7

5 8

6 15
  does not lie between

5

6
and 

18

15

33. (a)

       Solve the question by option

7 92
29 11




7 10 53
39 12 6

 


34. (b)

Multiply by 30 in both fractions

5 75 3
30 18

8 4 4
    and 

7 210 1
30 19

11 11 11
  

So, option b lying between fractions

35 (b)

       0.7 + 0.16 = 0.7 + 0.4 = 1.1

1.02 –
0.6

24
= 1.02 – 0.025 = 0.995

1.2 × 0.83 = 0.996

1.44 1.2 , Hence 1.44  is greatest

36. (b)

       Number are 

2
4 3 45 5 4 16

, , ,
9 7 99 11 5 25

 
  

 

Compare 
4 3

28 27
9 7

 

3 5
33 35

7 11
 

3 16
75 112

7 25
 

So 
3

7
is least number

37. (c)

       1 × 2 + 2 × 3 + 3 × 4 + 4 × 5+.........10 × 11

We know,

Sum =
   n n 1 n 2 n 3

4

  

then,

10 11 12 13

4

  

 10 × 11 × 39

 390 × 11

 4290

38. (c)

5 3 + 75 =17.32

5 3 +5 3 =10 3 =17.32

 3 =1.732

 14 3 + 108 =14 3 +6 3

= 20 3 = 20 1.732  = 34.64

39. (d)

       
1 1 1 1 1

.......
1 2 2 3 3 4 4 5 8 9

    
    

Sum = 
 9 –1 8

9 9


40. (c)

       
1 1 1 1 1 1

20 30 42 56 72 90
    

Or

1 1 1 1 1 1

4 5 5 6 6 7 7 8 8 9 9 10
    

     

Sum = 
 10 – 4 6 3

40 40 20
 
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41. (c)

       
1 1 1 1 1 1 1 1

20 30 42 56 72 90 110 132
      

Or

1 1 1 1 1 1 1

4 5 5 6 6 7 7 8 8 9 9 10 10 11
     

      

1

11 12




=
12 – 4 8 1

48 48 6
 

42. (a)

       
1 1 1 1 1

15 35 63 99 143
   

Or

1 1 1 1 1

3 5 5 7 7 9 9 11 11 13
   

    

Sum =
10 1 5

39 2 39
 

43. (c)

       
1 1 1 1 1

1– 1– 1– ....... 1– 1–
3 4 5 99 100

         
                  

= 
2 3 4 98 99

.......
3 4 5 99 100

  

= 2 ×
1

100
=

1

50

44. (c)

       
1 1 1 1

1 1 1 ....... 1
2 3 4 120

       
              

   

=
3 4 5 121

.....
2 3 4 120

 

= 
1 121

121 60.5
2 2

  

45. (a)

999 × 6 +
1 2 .... 6

7

  

= (1000 – 1) 6 + 3 = 5997

46. (d)

999
999

7
1000



 7 × 999 = 7 × (1000 – 1) = 6993

6993
6993

1000

= 6993 + 6
993

1000
= 6999

993

1000

47. (b)

999
995

999
× 999

995
999

999


=
995 4

999
999

 
  


× 999 = 999000 – 4

998996

48. (a)

998
999 999

999


=
998 1

999
999

 
  


 × 999 = 999000 –1 998999

49. (b)

       

1 1 27 157
2 2 2

1 11 65 652 2
5 272
11

      
 



50. (a)

       

1 1 38
2 2 2

1 11 491 1
5 383
11

     
 



136

49


51. (c)

       

2 2 9 138
2 2

15 60 605
9


   



52. (a)

       

9 9 15 162 135 297
3 3

24 54 54 542
15

 
    



53. (c)

29 15 14
– 1 17 7 7

1 49 16 247 8
2 2

5 14 532 7 2
24

  


 


=
2 14 53 28 130 56

65 106 24 65 53 53


   


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54. (d)

a
1–

1
1–

a
1

1– a


a a
1– 1–

1– a 1–1 a1–
1– a a

 




 = 1–1 = 0

55. (a)

29 9
– 1 53 14 17 4

1 247 8 28 652 2
5 532 7 2
24

   
 



=
53 53

130 130
 = 1

56. (b)

       

5
A =

3
3

2
1–

3



5
=

3
3

1
3

 5
=

3 9

5
=

12

1 1 1
B =

1 1 1
3 – 3 – 3 –

1 37
2 – 2 –

5 55
7

 

1 1 3
45 43 –
33

  

5 3
A +B

12 4
 

5 9

12


=

14

12
=

7

6

57. (a)

       

1 1 1
A =1+ 1 1

1 1 9
1 1 1

1 10 101
9 9

   
  



10 29
1

19 19
 

1 1 1 1 5
B =

42 2 19 1933 3
1 5 5 52
2 2

   
 



19 (A + B) 
29 5

19 34
19 19

 
  

 

58. (d)

       

1 1 13
A =

1 9 483 3
4 131
9

 
 



then, 24A =
13

2

59. (b)

       

1 1 1
1 1 19

5 – 5 – 5 –
41 533 –3 –

1 195 –
4

 

53 53

265 –19 246
 

60 (d)

Let,

A = 157 and B = 133

Given that,

2 2

3 3

A B AB

A – B

 
=

1

A – B
=

1 1

157 –133 24


61 (d)

Let,

A = 0.09, B = 0.04, C = 0.16

Given that,

2 2 2A B C 2AB 2BC 2CA

A B C

    

 

 
2

A B C

A B C

 

 
= A + B + C = 0.09 + 0.04 + 0.16 =0.29

62. (a)

4913+ 343

289+ 49 –119

= 
   

     

3 3

2 2

17 7

17 7 17 7



  

=  

3 3

2 2

a b

a b ab



 

= (a + b)

= (17 + 7) = 24



M
at

hs
 b
y

A
di

ty
a 

R
an

ja
n 

si
r

Join Telegram- Maths by  Aditya Ranjan

Aditya Ranjan (Excise Inspector) Selected gS Selection fnyk,axs  18

Simplification

63. (c)

     
           

33 3

22 2

3.321 2.681 1.245 3 3.321 2.681 1.245

3.321 2.681 1.245 3.321 2.681 2.681 1.245 1.245 3.321

     

       

This is the formula

 
3 3 3

2 2 2

a b c – 3abc

a b c – ab – bc – ca

 

  = (a+b+c)

= (3.321 + 2.681 + 1.245) = 7.247

64. (b)

     80 80 80 70 70 70 50 50 50 840000

6400 4900 2500 5600 3500 4000

        

    

 
     

     

3 33

2 22

80 + 70 + 50 – 3×80×70×50

80 70 + 50 – 80×70 –70×50–50×80

= (80 + 70 + 50) = 200

65. (a)

 
 

3

3

4.2 0.008

4.2 0.84 0.04



 


   

   

3 3

2 2

4.2 - 0.2

4.2 +4.2×0.2+ 0.2

= 4.2 – 0.2 = 4

66. (c)

143×143+143×139+139×139

143×143×143-139×139×139

Let a = 143, b = 139

2 2

33

a +ab+b 1
=

a –b a–b


1 1
= =
143 –139 4

67. (d)

6.35×6.35×6.35+3.65×3.65×3.65

6.35×6.35+3.65×3.65–6.35×3.65

 
3 3

2 2

a +b
= a +b

a +b – ab


a = 6.35

b = 3.65

 
1 1000

635 +365  = 0.1
10000 10000

 

68. (d)

 
 

222 2 2

22 2 2 2

a b ca – b – 2bc – c

a b 2ab – c a b – c

 


  

   
   

–

–

  

  

  


  

a b c a b c

a b c a b c

 


 

a b c

a b c

69. (d)

 (3x + 5)² + (3x – 5)²

 2[(3x)2 + (5)2]

= 2[9x2 + 25]

70. (c)

Put, y = 0

4

2 2

256

80 16




x

x x

1

5


71. (a)

2 2 2

2 2 2

s t 2s t u

s t 2 tu u

  

  


 

 

2 2

22

s t u

s t u

 

 


  
  
s t u s t – u

s t u s t u

  

   

=
s t u

s t u

 

 

72. (a)

x = y = z 1, 
1 1

P
1 1 2

 


, 
1 1

q
1 1 2

 


,
1 1

r
1 1 2

 


1 1 1

2 2p 2 2q 2 2r
  

  

1 1 1

2 1 2 1 2 1
  

  

3
1

3
 

73. (d)

x y

x y





= 
2 3 2 3

2 3 2 3

 


 

5 – 2 6
= = 2 6 – 5

–1

74. (b)

1801 × 1801 = (1801)2

= (1800 + 1)2

= 18002 + 2 × 1800 × 1 + 12

= 3240000 + 3600 + 1

= 3243601

75. (a)

       
18 –1 17

0.18
90 90

 
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Simplification

76. (b)

       
43213 – 43 43170 4317

0.43213
99900 99900 9990

  

77. (d)

5.7676

–2.3333

3.4343
=3.43

78. (c)

0.142857 0.285714

=
142857 285714 1

999999 999999 2
 

79. (c)

 0.11 0.22 3 

=
11 22 33

O
99 99 99

 
  

  × 33 = 1

80. (d)

39 13
0. 39 0.39

99 33
  

81. (b)

       
349 – 3

2.3 49 2
990

 

346 1980 346 2326
2

990 990 990


   

82. (d)

0.537 – 0.335 0.234

537 5 335 3 234 2

990 990 990

  
  

532 332 232

990 990 990
    = 

432

990

83. (b)

       Let the number of oranges of Natu and Backku

be x and y respectively

Given, x + 10 = 2 (y – 10)  x – 2y = – 30........(i)

y + 10 = x – 10  x – y = 20 ..........(ii)

(ii) – (i)  y = 50

 Hence, x = 20 + 50 = 70

84. (b)

       Given, A + B = 120

B + C = 130

C + A = 140

On adding, 2(A + B + C) = 390  A + B + C =195

 C = (A + B + C) – (A + B) = 195 – 120 = 75

85. (c)

       Let number be x

Given, 3(2x + 9) = 75  x = 8

86. (a)

       Let the number be x and y

Given, x + y = 8 and xy = 15

Divide both equation

8

15

x y

xy




 
1 1 8

y 15x
 

87. (b)

       Given, A + B = 3 (B + C) ........(i)

A + B + C = A + 30    ..........(ii)

B = 5 C  ............(iii)

Fom (ii)

B + C = 30

5C + C = 30 (put B = 5C)

6C = 30  C = 5

 B = 30 – 5 = 25

From (i)

A + 25 = 3 × 30, A = 90 – 25 = Rs 65

88 (b)

       Number of pants =
252 252 2

1 52
2


  100

Number of shirts = 
141 4

80
7




89. (d)

       Factor of 50 = 1, 2, 5, 10, 25, 50

Above person will be kept marbles

 Total marbles = 1 + 2 + 5 + 10 + 25 + 50 = 93

90 (d)

       Let the number be 10x + y

Then sum of number and number obtained by

reversing the digits

= 10x + y + 10y + x

= 11 (x + 9)

If x + y = 11 then number will be perfect square

 possible pairs are = (2, 9), (3, 8), (4, 7) and (5, 6)

8 numbers are possible
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